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Group-A
(Multiple Choice Type Question) 1x15=15
1. Choose the correct alternative from the following :

(i) During datagram switching, the packets are placed in to wait until the
given transmission line becomes available.
a) Stack b) Queue
c) Hash d) Routing table
(i) Identify the wireless transmission of signals can be done via
a) radio waves b) microwaves
c) infrared d) all of the mentioned
(iii) Identify the following is the multiple access protocol for channel access control
a) CSMA/CD b) CSMA/CA
c) Both CSMA/CD & CSMA/CA d) HDLC
(iv) Choose the following methods is used to broadcast two packets on the medium at a
time
a) Collision b) Synchronous
c) Asynchronous d) None of the above
(v) Transport layer aggregates data from different applications into a single stream before
passing it to
a) network layer b) data link layer
c) application layer d) physical layer
(vi) Identify the following are transport layer protocols used in networking
a) TCP and FTP b) UDP and HTTP
¢) TCP and UDP d) HTTP and FTP
(vii) Transport layer protocols deals with
a) application to application communication b) process to process communication
c) node to node communication d) man to man communication

(viii) When using TCP, after a session is open, the applications can adjust the amount of
segments they receive before sending an acknowledgement. This behavior is expressed
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as

a) MTU adjustment b) Flexible send path
c) Windowing d) FCS
(ix) Indicate Physical or logical arrangement of network is
a) Topology b) Routing
c) Networking d) Control
(x) Predict topology requires a multipoint connection.
a) Star b) Mesh
¢) Ring d) Bus
(xi) Express ranges of Well-known ports are
a)1to 80 b) 0 to 256
c) 1to512 d) 0to 1023
(xii) In TDM, indicate slots are further divided into
a) Seconds b) Frames
c) Packets d) Bits

(xiii) In a network, If P is the only packet being transmitted and there was no earlier
transmission, determinethe following delays could be zero

a) Propagation delay b) Queuing delay
c¢) Transmission delay d) Processing delay
(xiv) Determine the subnetwork address for a host with the IP address of 200.10.5.68/28
a) 200.10.5.56 b) 200.10.5.32
c) 200.10.5.64 d) 200.10.5.0
(xv) Recognize the first Network was called
a) CNNET b) NSENET
c) ASAPNET d) ARPANET
Group-B

(Short Answer Type Questions)

2. Distinguish between point to point links and multi point links.
3. Explain with a brief note on transmission medium.
4. Define circuit switching?
5. Describe Domain Name System.
6. Explain the format of an e-mail?

OR

[llustrate the advantages of IPv6 over IPv4.
Group-C

(Long Answer Type Questions)

7. Describe CSMA/CD protocol in Ethernet.
8. Discuss about the techniques to improve QoS in internetworking.
9. Explain the error correction techniques available.
10. Explain the adaptive transmission mechanism
11. Explain Telnet in detail.
12. Explain the services provided by PPP.
OR
Illustrate about unicast routing algorithms.
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